PITT Qube DM-30-AAA-3

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/1511:56:16



PITT Qube

DM-30-AAA-3

No. mE SREZ G - ME BRI EfM iBE
1 063020601 SD-30 47795 ADC 1 13,200
2 063020701 SD-30 HMEAIN - PE NBR 1 200
3 063020801 SD-307° 379 %~ SUS304 3 2,600
4 063020901 SD-30 7°3y" ¥-t° Y )STEEL(457‘:'5 3 200
5 063021001 SD-30EfEE ADC 3 800
6 063021101 SD-307RJL b M6x30 3 200
7 063021201 SD-30/\REE ¢ 6 3 200
8 063021301 SD-30 97v95-2hn - ADC 1 1,000
9 063021402 SD-30 47795 -Ahn" -0 y&y NBR Z&/Xw * 1 300
v
10 063021501 SD-30+ZFFARARIL b M6x18 5 200
)STEEL(zo%
11 063021601 SD-30 W5 =" £y b PC M7 -3 1 300
+I° 9EY
12 063021701 SD-30 M b4v7° 307 )STEEL(45% 1 300
13 063021801 SD-30 M b4Y7° 35 ¥ 9ty NBR 1 200
14 063021901 SD-30 47v)%h STEEL(S45C) |1 6,100
15 063022001 SD-30 & -WA" 7Y vh° CR15 2 900
16 063022101 SD-30 & =WA" 7YV -2 ADC 2 400
17 063022201 SD-30 97758t hy-l NBR 2 400
18 063022301 SD-30 y-hn° yiy [iTnp:k s 2 200
19 063022401 SD-30 7RJL b M6x18 8 200
)STEEL(zo%
20 063022501 SD-30 97vh&hhn - PVC 1 300
21 063022601 SD-30+ZFENRAFFRNRY M5x10 2 200
)STEEL(ZO%
22 063022701 SD-30FEE% SPCC M5 2 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube

DM-30-AAA-3

No. i LLE Mg - HE BRI Eff T
23 063022801 SD-30 4" 2han - PC 1 300
24 063022901 SD-30 7° 379" 4= WI-l NBR 3 400
25 063023001 SD-30 F1v)»y° NBR 3 200
26 063023101 SD-30 477N tyb C3604B 3 400
27 063023201 SD-30 7 YAs-l NBR 3 300
28 063023301 SD-30 4" )a)uy” C3604B 3 300
29 063023401 SD-30 ViA° y3y A RNBR 9 400
30 063023501 SD-30 Vi y4uy-t BHRNBR 3 300
31 063023601 SD-30 tyhYy7° SWP-A 3 200
32 063023701 SD-30 /N REE E/IngH57A 4 200
33 063023801 SD-30 L b M8x25 SUS (4 200
34 063023901 SD-30 ¥)v¥" - C3771B 1 7,300
35 063024001 SD-30 4" Yahy7° C3604B 3 300
36 063803401 SD-30 N 77 H3 6 700
37 063024201 SD-30 27° Y4 & vha SUS304 6 300
38 063024301 SD-30 N V7" R7° YUY SUS304 6 200
39 063024401 SD-30 N 7° SUS304 6 200
40 063024501 SD-30 N k77 9-h SUS304 6 200
41 063024601 SD-30 N 7" 9= NBR 6 200
42 063024701 SD-30MR AFvyn" - C3771B 1 2,600
43 063024801 SD-30F & SPCC M8 2 200
44 063024901 SD-30 HJL b M8x35 SUS |2 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube

DM-30-AAA-3

No. mE & - HME B Eff iBE
45 063025001  [SD-30mtHHFvun - C3771B 1 3,800
46 063025101  [SD-30 RJL b M10x70 2 200
)STEEL(45"='5

47 063025201 |SD-30F k4 SPCC M10 |2 200

48 |063025301 [SD-30/\RES SWRH57A |2 200
M10

49 063025401 [SD-30 + v bk SS41 M10 |2 200

50 063025501  [SD-30 I7-Fvun° - SI)JSSO4(T=1. 1 5,100
8

51 063025601 [SD-30FE A5t 1 2,500

52 063025701  [SD-30 & -hav) C3771B+2vF |1 700
biv% G1/4

53 063025801  [SD-30 & -h3v% C3771B+z94 |1 700
hAv¥G3/8

54  |063025901 [SD-30MtH 754 C3604B 1 500

55 063026001 [SD-30FE AR ABS 1 300

56 063026101 |SD-30FE HiAEES ?PCC+E$’:}X“} 6 200|{E#3~6IC T

M10

57 063026201  [SD-30 734#vh ABS 1 200

58 063026301  [SD-30 N %" 992 ZDC+hnbiv% |1 700

59 063026401  [SD-30+FRMAF RN STEEL(20%& |2 200
) M6x18

60 063026501 [SD-30 R ES SWRH57A |2 200
M6

61 063026601 [SD-30FES SPCC M6 |2 200

62 063026701  [SD-30 abkyn° - A3SH+Zy Ay 200

63 063026801 [SD-30FEHREEL /N— STEEL(20% |1 400
) +ERERAVE

64 (063026901 [SD-30 RJL b STEEL(20%& |2 200
) M6x12

65 063027001 [SD-30FES SPCC M6 |2 200

66 063027101 [SD-30 v SUS304 1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube

DM-30-AAA-3

No. hE w4 AR - ME ERE T =2
67 |063027201 |SD-30FEES SPCC M6 |2 200
68 [063027301 [SD-30EY Y4 SUS304 2 200
69 [063027401  [SD-30 7y -4l C3604B 1 300
70 |063027501 |[SD-30z@EE/ % SWP-A 1 300
71 063027601 |SD-30 /\RES )STEEL(457'§— 1 400
72 |063027701  [SD-30 1 wving" - C3604B 1 200
73 [063027801  [SD-30 At° VR W’ vEy NBR+STEEL( |1 200
202)

74 |063027901  [SD-30 #4h-I NBR+STEEL( [1 300
20%)

75 |063036701  [SD-30 At° UM Mvy7° t3hRAR |1 300

76  |063033601  [SD-30 At° VM W W7 5399 1 900

77 |063034001  [SD-30 4N aZ{k C3604B 1 900

78 |063033901  [SD-30 W {n° AFEEE 5399 1 400

79 |063028501  [SD-30 i 3y NBR 1 200

80 (063028601 [SD-30 75V C3604B 1 400

81 063028701  [SD-30 Av4tyh 063;}028702: 1 300
AY]

82 [063028801 [SD-30 V7 -U- ADC 8INCH |1 3,800

83  [063028901 |SD-30 ¥— STEEL(45% |1 200
) 5x30

84 [063029001 [SD-30 FEES SPCC M8 |1 200

85 (063029101 [SD-30/\RES SWRH57A |1 200
M8

86  [063029201 |SD-30 Il bk STEEL(45% |1 200
) M8x25

87 [063804901 |DM-30IRAKR—R% 3 1 4,900

89 (063029401 [SD-30%#+ v K C3604B 1 400

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube

DM-30-AAA-3

No. mE i RE - ME B EM wE
90 |063029501 [SD-30#fk=F C3604B 1 400
91 [063029601 [SD-300R Af-AN w4V NBR 1 200
92 [063029701 [SD-30Mk A#i-AN Vb A3%H+ 0 AvE (1 200
93 [063036801 |DM-30 %4/3=97° ) (28) I(%)63029803 1 200
=
94 [045811503  [MS-250 IR AAM-1-53 1 3,100
95 |063804801 |DM-30 Rkih—R 7 I 1 2,500/ 96~99
97 [063030101 [SD-30%%+ v C3604B 1 400
98 [063030201 [SD-30HH=F C3604B 1 300
99  [063030301 [SD-30&7Ki-AN vkY NBR 1 200
100 [063030401 [SD-30 43v41-2& gﬁm%@ﬁ 2 1,100
101 |063030501 [SD-30FES SPCC M8 |8 200
102 [063030601 [SD-30/\%EEH %RHWA 4 200
103 [063030701 [SD-30:KJL k STEEL(45% |4 200
) M8x20
104 [063030801 [SD-30 4 57N #yhan’t )STEEL(45% 1 400
00 [063805001 [DM-30 EFFAEEERY 1 4,200 A: 55~76
00 [063804701 |DM-30 Fi&N viv—= 3%9—&— 1 1,300[ 29,30,41,91,99

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

Copyright(c) KOSHIN Ltd. All Rights Reserved. 7 2025/01/1511:56:16



PITT Qube

DM-30-AAA-3

No. mE & - HME B Eff iBE

106 [063802005 [SD-30RY ARG = 3Wz- 1 44,800|No.1~86, 100~104
30WDHER

107 [063019301 [SD-30 #4WEAI-I 1 200

108 [063031505 |DM-30-AAA-3%4iR 1 400

109 (743120061 MaR BN REESHEIA S AT Wb M10x25 4 200
SWRM+/04-}

110 (846220010 |FEe ¢ 1 OSWRM [4 200
+H0p-p

111 [827420010 [AKAE+v k M10 4 200
SWRM+/04-}

112 |063020301 [SD-30mtHEE—2 (1 0m) BOAFN° AB 1 8,800
8.5X10M#1%"
Uk

113 (063801803  [SD-30 /2" M3 =EREmE 1 15,200

114 [063805101 [DM-30&WEREL (V4 v NEIR) 1 2,500

115 (063032501 [V w7 1 1,100

116 (063019002 [SD-30mEMOASEN® 1 600

117 889855011 [0Yy4" P11 NBR P11 NBR 1 200

118 (703304049 [+F7fFEFRNNxY M3x5 1 200

119 (063019102 [SD-30MEOE Bk 1 600

120 (063019401 [SD-30%&#4x 1 500

121 889855014 |0OYv4 P14 P14 NBR 1 200

122 (063019501 [SD-30MmEHx SUS304¢3.3|1 300
N\

123 063019201 SD-30EA++v 7 =K 1 600

124 (063802802 [SD-30/\Y RJLZ X STKM ¢ 25.4 |1 7,700

125 [063018701 |[KOSHINS~JL T=1.6295x5 |1 300
8

126 743120051 MAN IR EEHIASERIL b M8x35 4 200
SWRM+/04-}

127 (838720008 |75V IfARAF Y MEVIMD) M8}~SWRM+7 4 200
nA-

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube DM-30-AAA-3
No. mE & - HME B Eff iBE

128 (063802103 [SD-307 L —LXEI I (=%) 1 18,200

129 (827420010 [Afa+v bk M10 1 200
SWRM+40x-}

130 (063020002 [SD-30 7v¥3v7° b-h SPCC T=2.3 |1 2,100

131 (743119075  |MAN BIERELMEANABRIL ~ M1 0x80S]1 400
WRM

132 (063020501 =N NBR C-31-2 |2 300

133 (846202020 [7wv+ ¢ 20*37*T3.0|2 200
SS40048

134 (063037801 |[DM% A+ TUBELESS ¢ |2 3,100
210

135 (847302087 [z 4%x36 1290 |2 200
xvk

136 (063034401 |[GB130LN-111TvS v *— IEfM 0

137 (743119053  [MAN BIERELMEANABRIL ~ M8x40 4 200
SWRM

138 (827419008 [A<fa+v b M8 1f&Fh |4 200
SWRM

139 (884204046 |¥— 5x5x36 1 300

140 |063034201 [SD-30 1YY" v7°-U-¢ 65 M1y K7V @ 18%-18 |1 4,100
5

141 (714232094 [RATMGELEHRY M8x12 SCM |1 100

144 (743119049  [MAN FILREEHEASARIL b M8x3 0SW |1 100
RM

145 [943500029 |[VAJL K A29 2 2,000

146 (063020102  [SD-30 A I pin" - PP 1 3,100

147 [063003201 [DHEESA~NIL FhOIvILN - 1 300
T0.05 AT

148 (045019901 KK 3FEESRIL A VLN - 1 200
T0.05 AT

149 (748619028 |3 &mtEALR+FRAAZAERIL M M6*12 4 200
SW+/NEIW

150 (063033701 [5"Yy7° ¥ advh 1 700

00 063031708 |DM-30-AAA-34 58 1 10,600

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

Mg - HE BRI Eff

00 063031903  [DM-30E& 1 550

Copyright(c) KOSHIN Ltd. All Rights 10 2025/01/1511:56:16
Reserved.



PITT Qube

DM-30-AAA-3

nirsosrent | S

T 8K-86
Iy yBRR. 77—

Ryaso0xr]

EeiRiBPr R E]
RO I NI ETHERCIEE N,

TP yB#ITRESECHANTIEEN,

4 o0T 2]

(L2227 0y JHEBICITED

\

ERERTE

Jﬁ‘f&b‘nﬂcﬁniiﬁff: = 2

5+
EXLTIEEL,
ITARTLEEL,

~
?ETEL‘T:%h“U WERGR &Y FTH

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

11 2025/01/1511:56:16




PITT Qube DM-30-AAA-3

)R TV S r—AHIN— Ny RHIN— (DM) =2 GB130L

ooy y
D

ﬁ KOSHIN 18.10

Copyright(c) KOSHIN Ltd. All Rights 12 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

No. ES m W% - B B EfM e
1 KB43012AA  |PUv%" 77 0v) 1 28,900
2 FN11223 (VAT 2 400
3 FN15746 =AYV 1 1,050
4 FR41845 MW=l 1 600
5 ZZ70013A Ay b 2 100
6 S111X62X040 [ WA 7Y»H” 2 800
7 KB63006AA  |17795-20N - 1 7,050
8 KGO1007AA  [h" N % YASSY 1 1,4009%&
9 KG14006AA  |b" N +234%° 1 400
10 KG22004AA  |h" N 947} 1 800
11 KL21006EA  |#Mh"-9" 2 350|12% &
12 S655W18 el VUM 2 200
13 KW23002AA  [#4ky-1b 1 600
14 B800B0O8X030 |77y & Ihb 6 250
15 KU44001AA (97 9IIt" Y 2 100
16 W200H06 799% 1 100
17 KCO9015AA  [Ayh AN -ASSY 1 4,600
18 B805B0O6X012 |77y & Ihb 3 100
19 KW33016AA  |1" aryb_Ayb AN - 1 200
Copyright(c) KOSHIN Ltd. All Rights 13 2025/01/15 11:56:16

Reserved.




PITT Qube DM-30-AAA-3

g )z ANY R (DM) =2 GB130L

== KOSHIN

Copyright(c) KOSHIN Ltd. All Rights 14 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

No. mE Mg - HE BRI Eff T

1 KCO2060AA  [JYy8" Ayp ASSY 1 12,150|WITH B155B06X080
2 KV24009AA  [§A°yh 2 550

3 KV33005AA  [{Y74InN 7" 1 1,250

4 KV42002AA  |14Y" -2V 7" 1 1,450

5 KV55010BB | V77 27°Yv)° 2 150

6 KV64002AA |V V77 A7° Y5 )7~ 2 300

7 KV71013AA (77 yyanyh 2 1,000

8 KVO2005AA  [Avh-7-bASSY($Tt]) 1 09~15%%
9 KV74009AA  |7°b-} 1 2,650

10 KV72012AA  |nyh-7-h(3THD) 1 0]

11 KV72013AA  (Avh-7-A 1 2,000

12 KU23013AA  [Fvb 2 100

13 KV73004AA 79" vAbR)Ya 2 200

14 KV75009BA  [J%7h 2 400

15 FR34111 £ AbVE" V) 7° 2 100

16 KW21023AA [N 7" AThy-N 1 450

17 B8OOAO6X016 7775 & b 4 100

18 B800BO8X055 (7773" # Wb 4 300

19 KU44001AA |57 9TWt"y 2 100

20 KC660T14AA  [Ayh 47 Ay b 1 600

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

15

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

9 95008 T8/ EXR&AY R (DM) =2 GB130L

D909 %TF

== KOSHIN

Copyright(c) KOSHIN Ltd. All Rights 16 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

No. i LLE Mg - HE BRI Eff T
1 KDO2066AC  [97799%7PASSY 1 15,6502,3% &
2 KDO6005AC  |97799v7M" ¥ 1 3,700
3 KD90016AA  |4- 1 350
4 KU39008BC |VA 1 250
5 KD90016AA  [4- 1 350
6 KVO1209AC  [hhY¥7PASSY 1 12,7507,8% &
7 KV83009GF |t°¥ 1 150
8 S500P03 YSERL VN 1 100
9 KDO3015AA  [1#47475 vk ASSY 1 4,550|STD 10%&
00 KDO3015BA  [1#97474" 0yh ASSY(US0.25) 1 6,000[N09 0.25 10%%&
00 KDO3015CA  [1#47474" 0yh" ASSY(US0.50) 1 6,000|No9 US0.50 10%&
10 B800B06X030 (7773" #" Wb 2 200
11 KP16006AA  [t° ALY 1 1,900|STD
00 KP16006BA  |t°2h»(0S0.25) 1 2,750N0.117  0OS 0.25
00 KP16006CA  |t°2h»(0S0.50) 1 2,750No. 117 OS 0.50
12 KP55003BA [t Abvt"Y 1 450
13 KPO2008AA  |t°ZMYY b 1 2,250|STD
00 KPO2008BA  |t°AMYY b 1 2,350|No.13  0OS 0.25
00 KPO2008CA  |t" AM/YYY™ £y 1 2,350|N0.13  OS 0.50
14 KP90O0O02AA  |t° Zkvt® VHYy7° 2 100

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

17

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

(DM) =2 GB130L

—13

: o1
4 =

HIN— ? no 2

== KOSHIN

Copyright(c) KOSHIN Ltd. All Rights 18 2025/01/1511:56:16
Reserved.




PITT Qube DM-30-AAA-3

No. ES m W% - B B EfM e
1 KE90245AA  [77V 1 850
2 KE24034AA 19" zy9yavadl 1 7,25013% &
3 KE42037AA  |7° 35 vy7° 1 500
4 KET12033AA  |774#4- 1 9,500
5 B805B06X025 |77y & Ihb 2 100
6 FR41231 Tyb 1 250
7 KH25015CA  |7774N - 1 5,000
8 KH40102AA  |9U9™ An - 1 600
9 KH90092DA |51 -9yyay 1 300|L=70
10 KH90092BA |7 -9yyay 2 300|L=85
11 KH90092CA |7 -9yyay 1 300|L=60
12 B80O5B06X012 |7579" & b 5 100
13 KE90177BA  |U-F74% 1 150
14 KE41022AD (AN -97°3%° 1 700|BP6HS(NGK)
15 KR40039AA  |7AYhN - 1 1,050
16 B805B06X016 (7779 # Ihb 1 100
17 KU12025AA  |99t" v9" A9Ya 1 100
Copyright(c) KOSHIN Ltd. All Rights 19 2025/01/15 11:56:16

Reserved.




PITT Qube DM-30-AAA-3

(DM) =2 GB130L

BRIV RATV2T /HIN—

ﬁ KOSHIN 18.10

Copyright(c) KOSHIN Ltd. All Rights 20 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

No. i LLE Mg - HE BRI Eff T

1 KMO2179AA  |[¥77ASSY 1 15,00012~11%%&
2 KM15115AA |73 1 10,400

3 KM25079AA  [¥77h0" - 1 1,950

4 E800A06X008 77797 K Wb 2 100

5 E800A06X01 6 (77797 bh 1 100

6 KU50007JA |77 92 1 400

7 KM90207AA (97 729-I 1 500

8 KM30027AA |14y -2 47° 1 2,400

9 KM70064AA  |3775° a5 h 2 300

10 KM9O0190AA |7° -} 1 850

11 N801A06 7779 tyb 3 100

12 7770028C IZANRT°YVS b 2 100

13 KM70040AA  |v775° a5y b 1 250

14 }1<AO109‘IABOO h)-1h-2 1 1,20016%&
15 gAO'I 092AA00 |9Y-1an" - 1 1,400

16 §A01 091AAQO |V v4v5° 1 350

17 EAO109‘IAAOO H)-FIVAVH 1 650

18 ZZ70002R 774" $1-7" 1 250

19 B155B06X080 |29+ & Wb 2 300

20 B80O0OA06X020 775" & b 1 100

21 N801A06 7779 b 2 100

22 B155B08X020 |A9y b & Ihb 2 200

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

21

2025/01/1511:56:16




PITT Qube

DM-30-AAA-3

No. LR aa Bt - B B EfM wE
23 |KG34049AB  [i° N 1277 YY)’ 1 250
24 |KM90182AA  [hn - 1 700
25  |[FA28221 7= 47° 1 1,000
26 \évrg)osDo4xoo 292 2 100

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

22

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

(DM) =2 GB130L

== KOSHIN

Copyright(c) KOSHIN Ltd. All Rights 23 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

No. i LLE Mg - HE BRI Eff T
1 KK12054AA  |$v7" LY(F) 1 12,950|12~28% &
2 EK‘I 2047AA00 ARy MW V7" 1 800
3 gK'I 3012AA00 (2992 2 300
4 §K1 2046AA00 |Fa-In W7° 1 650
5 EK‘I 2025AA00 [35Y2 2 100
6 SK'I 2046AA00 [A7°Uvy” 1 550
7 gK1 2046AA01 (29Y)a 1 1,250
8 SK‘I T0TTFF10 |=-N " 17° 1 3,5509% &
9 1KK'I 2008AEO01 |9Yy7° 1 200
10 §K1 2008AEO1 |t°¥ 1 200
11 gK‘I 2008AEOT1 (78-b 1 1,700
12 EK'I 2047AA01 (ABy VY%7 b 1 1,050
13 gK1 2008AEOQT |0 i) 1 150
14 EK‘I 2008AEO1T [¥-W 1 200
15 gK'I 4001AAO01T 5" Ay b 1 550
16 §K1 2008AEOQ2 (70-MFeyn” 1 2,850|17,18%&
17 gK‘I 5001AA01 A7°Uvy” 1 250
18 SK'I 2008AE02 [34Y2 1 250
19 EK1 2008AEQ02 |0 w¥v)° 1 150
20 §K‘I 2008AE02 | kb 1 500
21 EK'I 2046AA02 |Fa-9un" - 1 1,750
A 1 200

22 KK12008AEO1
8

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

24

2025/01/1511:56:16




PITT Qube DM-30-AAA-3
No. LR aa Bt - B B EfM wE

23 5K12008AEO1 9= 1 200
24 5K12008AE02 A 1 200
25 1KK12008AE02 A 1 200
26 §K12047AA02 MIIR W 1 2,000
27 §K12047AA02 PZAET] 1 1,500
28 §K12008AE00 N ADy b zyb 1 1,400
29  |KK32006AA  [{yy1b-% 1 600
30  |KK90058AA  [Fa-ibn - 1 250
31 [KW34029AA (47" L91" ahvh 1 100
32 |KW34077BA  [¥+7 L9h" Arvb 1 150

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

25

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

0 O sa—JbINXIV A1y F (DM) =% GB130L

> ba—jviszxib

== KOSHIN

Copyright(c) KOSHIN Ltd. All Rights 26 2025/01/1511:56:16
Reserved.




PITT Qube DM-30-AAA-3
No. ES m W% - B B EfM e
1 KGO3045BA  |avbm-n° #LASSY 1 2,500(2~9% &
2 KU8SO023AA  |a7°Uvy° 2 200
3 KU14038BA  |A%Ya 2 100|L=30
4 KUBG0016AA  [§7V7° 1 300
5 5|051 DO5X01 |A%Ya 1 100
6 B751A04X008 [ kb 1 100
7 KR30013BA  |abyn° 1 450
8 S500P04 AT Uvh” 1 100
9 KG35010BA  [V4-Ya7°Yu)" 1 500
10 KG22020AA  |h" W +9v7h 1 1,300
11 KG31027AA (A" N b - 1 950(12,13% 8¢
12 B80OOB06X020 (7 v Y RIL k 1 100
13 KU23019CA  [#vb 1 200
14 KG41029AA (4" n"tayh 1 300
15 KG42034AA  |0yh A7°Uvy° 1 250
16 KG90015AA  [7v9% 1 100
17 KGO0016AA |97 Aby-I 1 2,400
18 KH40101AA  |hy7° 4N - 1 600
19 KU70006AA  [#Yy7° 1 100
20 B805B06X012 (7779 & Ihb 1 100
21 B80O5B06X016 (7775 & b 1 100
22 KESO033AA  |aby7° 2 v¥F 1 450
Copyright(c) KOSHIN Ltd. All Rights 27 2025/01/15 11:56:16

Reserved.




PITT Qube DM-30-AAA-3

Mg - HE BRI Eff

23 KE90190AA  [J-F 74¥ 1 350

Copyright(c) KOSHIN Ltd. All Rights 28 2025/01/1511:56:16
Reserved.



PITT Qube

DM-30-AAA-3

@ i) TS

(DM) =2 GB130L

229

== KOSHIN

18.10

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

29

2025/01/1511:56:16




PITT Qube

DM-30-AAA-3

No. mE RE - ME B EM wE

1 KFO4125BD  [72-IWVHASSY 1 7,450[2,3 =&

2 KFO5021AA  [§v5%¥y7° ASSY 1 700

3 KF40003EA  [72-Ih74M¥ 1 550

4 B805B06X020 757" & Wb 4 100

5 FR67419 H)y7° 1 150

6 KF31047AA  [72-Ih1vY 1 5,750[7~10%%&
7 UCHIKIRI 1 99,999

8 §F31010AA00 hy7° 1 950

9 §F31018AA00 71-Ih7 (WY 1 400

10 §F31010AA00 e 1 650

11 B800A06X012 {7579 & Wb 1 100

12 |FR53226 H)y7° 2 100

13 |FR67419 H)y7° 1 150

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

30

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

9 )IAA)VRAZ—R (DM) =2 GB130L

ﬁ KOSHIN 18.10

Copyright(c) KOSHIN Ltd. All Rights 31 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

No. i LLE Mg - HE BRI Eff T
1 KS02106AD  |Y34hAs-9ASSY 1 9,50012~11%&
2 1K8201 28ADO0O0 |A5-45-2 1 5,250
3 gSZOOSOADOO AN ATNAT YV 1 1,550
4 §8201 28ADOO0 |U-I 1 1,000
5 28201 28ADO0O |17 4} 1 600
6 gSZOOSOADOO 77 V=%27°Uvh° 1 600
7 ESZOOSOADOO A9Ya 1 350
8 §8201 28ADO0O |V7-7 1 250
9 SSZOOSOADOO A9-40-7° 1 750
10 gSZOOSOADm IV 1 700
11 KS30059AA  [35-97°-1) 1 1,100
12 ESOOAOGXO'I 0 (77797 % Wb 3 100

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

32

2025/01/1511:56:16




PITT Qube DM-30-AAA-3

@ NI/ Ta—TI)VR—R Y=V AT vk (DM) =2 GB130L

SNV 7 a1—ITIVR—R

ARTy by b 8
10
5 o \ | @/11

== KOSHIN

19.12

Copyright(c) KOSHIN Ltd. All Rights 33 2025/01/1511:56:16
Reserved.




PITT Qube

DM-30-AAA-3

Mg - ME B

1 KW56257AA |78 Ik 1 250
2 KW56256AA  [1-Y3V7A" )b 1 500
3 KW56259BA  [%-43A" Ib 1 300
4 gF90341 AA16 (72-Ihi-2 1 650
5 5F90343AA37 71-Ihifi-2 1 1,250
6 UCHIKIRI 1 99,999
7 KN12017AA  |F v92an° + 1 1,300
8 KN13001AA  [z9Yah 740" 1 500
9 UCHIKIRI 1 99,999
10 BO80OAO8XO016 |#” Ivb 1 100
11 W207H08 PRVA 1 100
12 \é\/405805XO3 - 1 250
13 KW39102AB  |h” a7y eyh 1 2,900[14~19% =&
14 KC66014AA [y} 47 Ay b 1 600
15 KW33016AA  [B"AFyb_Ayh Hn" - 1 200
16 KW34029AA  [$v7" Lo5™ 2y b 1 100
17 KW34077BA  [$v7"Lo5™ 2y 1 150
18 KM70040AA  |3775° 24 h 1 250
19 KM70064AA  |v775° a5y b 2 300

Copyright(c) KOSHIN Ltd. All Rights

Reserved.

34

2025/01/1511:56:16




